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QUESTION 1

Which of the following database objects is considered executable using SQL? 

A. View 

B. Table 

C. Routine 

D. Package 

Correct Answer: C 

 

 

QUESTION 2

Given the following statements: 

CREATE TABLE t1 (c1 INTEGER, c2 CHAR(5)); 

CREATE TABLE t1audit (user VARCHAR(20), date DATE, action VARCHAR(20)); 

CREATE TRIGGER trig1 AFTER INSERT ON t1 

FOR EACH ROW 

MODE DB2SQL 

INSERT INTO t1audit VALUES (CURRENT USER, CURRENT DATE, \\'Insert\\'); 

If user USER1 executes the following statements: 

INSERT INTO t1 VALUES (1, \\'abc\\'); INSERT INTO t1 (c1) VALUES (2); UPDATE t1 SET c2 = \\'ghi\\' WHERE c1 =
1; 

How many new records will be written to the database? 

A. 0 

B. 2 

C. 3 

D. 4 

Correct Answer: D 
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QUESTION 3

A view is created with the following statement: 

CREATE VIEW v1 AS SELECT col1, col2, col3 FROM t1 WHERE col4 > 1000 ; 

When will DB2 access the data from table T1 for view V1? 

A. When view V1 is created 

B. Each time the REFRESH VIEW v1 statement is executed 

C. Each time an SQL statement is executed against view V1 

D. Only the first time an SQL statement is executed against view V1 

Correct Answer: C  

 

QUESTION 4

A view is created with the following statement: CREATE VIEW v1 AS SELECT col1, col2, col3, col4 FROM t1 WHERE
col4 > 1000 WITH CHECK OPTION 

What is the effect of the CHECK OPTION clause? 

A. Any row inserted or updated through view V1 must meet the condition that col4 > 1000. 

B. From now on, any row inserted or updated in table T1 must meet the condition that col4 > 1000, but existing rows in
the table are not checked. 

C. At view creation, DB2 will check the data in table T1, and if in any row doesn\\'t meet the condition col4 > 1000, the
view creation will be rejected. 

D. Any row inserted or updated through view V1 must meet the condition that col4 > 1000 and no row in table T1 can be
updated such that col4
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